Fort Bend County Tabulation Bid 20-014

On-Site Clearing, Grubbing, Demolition and Debri Removal Services for Various Road Projects

Term: 1 October 2019 through 31 March 2020

Awarded 09/24/19: Primary = TFR Enterprises, Inc. and Secondary = D & M Excavating, LLC

Renewal Term Approved 4/07/20: April 1, 2020 through March 31, 2021 Renewal Term Approved 2/23/21: April 1, 2021 through March 31, 2022 Renewal Term Approved 2/22/22: April 1, 2022 through March 31, 2023 Renewal Term Approved 2/28/23: April 1, 2023 through March 31, 2024

Item Number	Specification Item Number	Description	Estimated Annual Quantity	T		ler, mar Nu 868	TX y umber	Brownsville, T2 Secondary r Lawson Numbe 13869				P2MG, LLC Houston, TX				Hou	ndustries, LLC uston, TX		
				Form Yo			295	Form 1295			Form 1295				For			1295	
									Yes Unit Extended		Unit Extended			11.24			Extended		
				Unit Bid		Pricing		Bid		Pricing Pricing		Bid		Pricing		Unit Bid		Pricing	
					Price		Site Prepa	rati	Price		Price					Price			
1	` /	Clearing of Right-of-Way Labor Crew 1: (one) 1 Supervisor and two (2) Laborers, per hour	340	\$	40.00	\$	13,600.00		145.00	\$ 49,300.00	\$	91.00	\$	30,940.00	\$	515.63	\$	175,314.20	
2	SS8205 (550) (554)(555)(556)	Clearing of Right-of-Way Labor Crew 2: (one) 1 Supervisor and three (3) Laborers, per hour	660	\$	50.00	\$	33,000.00	\$	165.00	\$ 108,900.00	\$	110.50	\$	72,930.00	\$	765.98	\$	505,546.80	
3	SS8205 (550) (554)(555)(556)	Clearing of Right-of-Way Labor Crew 3: (one) 1 Supervisor and four (4) Laborers, per hour	340	\$	60.00	\$	20,400.00	\$	250.00	\$ 85,000.00	\$	130.00	\$	44,200.00	\$ 1	1,075.78	\$	365,765.20	
4	SS8205 (550) (554)(555)(556)	Stump Removal (6 to 12-inch Diameter), per each	250	\$	50.00	\$	12,500.00	\$	150.00	\$ 37,500.00	\$	455.00	\$	113,750.00	\$	394.03	\$	98,507.50	
5	SS8205 (554)(555)	Stump Removal (13 to 24-inch Diameter), per each	250	\$	50.00	\$	12,500.00	\$	220.00	\$ 55,000.00	\$	650.00	\$	162,500.00	\$	788.06	\$	197,015.00	
6	SS8205 (550)	Stump Removal (25 to 36-inch Diameter), per each	250	\$	50.00	\$	12,500.00	\$	350.00	\$ 87,500.00	\$	975.00	\$	243,750.00	\$ 1	1,182.09	\$	295,522.50	
7	` /	Stump Removal (37-inch or larger Diameter), per each	250	\$	50.00	\$	12,500.00	\$	420.00	\$ 105,000.00	\$	1,300.00	\$	325,000.00	\$	1,576.13	\$	394,032.50	
		Total of Site P	reparation:			\$	117,000.00	\$		528,200.00	\$			993,070.00	\$			2,031,703.70	

Item Number	Specification Item	Description	Estimated Annual	TFR Enterprises, Inc. Leander, TX			avating, LLC sville, TX		IG, LLC ston, TX	Fused Industries, LLC Houston, TX				
	Number		Quantity											
	Traffic Control													
8	671	Provide, Install and	10	\$ 2,000.00	\$ 20,000.00	\$ 2,500.00	\$ 25,000.00	\$ 7,500.00	\$ 75,000.00	\$ 2,860.00	\$ 28,600.00			
	(672)(SP 671)	Remove per Jobsite,												
	(Drawings)	per each												
	Total of Traffic Control:				\$ 20,000.00		\$ 25,000.00		\$ 75,000.00		\$ 28,600.00			

Item Number	Specification Item	Description	Estimated Annual	Т	FR Ente Lean	-		D & M Excavating, LLC Brownsville, TX			P2MG, LLC Houston, TX				Fused Industries, LLC Houston, TX				
	Number		Quantity																
	Extra Work Items																		
9	SS8205 (Construction Notes)	Clearing Right-of-Way, Additional Laborer (Asigned to crew w/ Supervisor and approved by the Engineer), per hour	500	\$	15.00	\$	7,500.00	\$	40.00	\$	20,000.00	\$	21.00	\$	10,500.00	\$	40.00	\$	20,000.00
10		Removal, Disposal, Salvage, or Relocation of Existing Fences (All Kinds), per linear foot	5200	\$	18.00		93,600.00	\$	5.00	\$	26,000.00	\$	3.50	\$	18,200.00	\$	48.00	\$	249,600.00
11	554 (421)(550)	Install Wood Fence, per linear foot	5200	\$	2.00	\$	10,400.00	\$	22.00	\$	114,400.00	\$	35.35	\$	183,820.00	\$	40.00	\$	208,000.00
12	555 (421)(550)	Install Chain Link Fence, including gates, per linear	5200	\$	0.50	\$	2,600.00	\$	12.00	\$	62,400.00	\$	25.25	\$	131,300.00	\$	40.00	\$	208,000.00
13	556 (421)(457)	Install Five Strand Barbed Wire Fence, per linear	5200	\$	0.25	\$	1,300.00	\$	11.00	\$	57,200.00	\$	25.25	\$	131,300.00	\$	10.00	\$	52,000.00
14	SS8205 (Construction Notes)	Debris Removal, Hauling, and Disposal, per cubic yard	3000	\$	23.50	\$	70,500.00	\$	24.00	\$	72,000.00	\$	35.50	\$	106,500.00	\$	85.00	\$	255,000.00
15	NA	7" X 10' Womanized Corner Posts, per each	100	\$	30.00	\$	3,000.00	\$	80.00	\$	8,000.00	\$	728.00	\$	72,800.00	\$	35.00	\$	3,500.00
16	NA	10' Tube Gate to include hinges, per each	10	\$	100.00	\$	1,000.00	\$	850.00	\$	8,500.00	\$	741.00	\$	7,410.00	\$	675.00	\$	6,750.00
17	NA	16' Tube Gate to include hinges, per each	10	\$	125.00	\$	1,250.00	\$	1,360.00	\$	13,600.00	\$	841.00	\$	8,410.00	\$	745.00	\$	7,450.00
18	NA	Net Wire Fencing, per linear foot	1000	\$	21.00	\$	21,000.00	\$	12.00	\$	12,000.00	\$	13.50	\$	13,500.00	\$	8.00	\$	8,000.00

Item	Specification	Description	Estimated	TFR Enterprises, Inc.		cavating, LLC		AG, LLC		dustries, LLC
Number	Item		Annual	Leander, TX	Brown	sville, TX	Hou	iston, TX	Hou	iston, TX
	Number		Quantity							
				Extra Work I	tems (cont'd)					
NOTE:										
THE ITE	MS LISTED AF	BOVE ARE EXTRA WO	RK ITEMS							
AND AR	E TO BE USED	ONLY ON THE INSTRUC	CTIONS OF							
THE F	IELD ENGINE	ER ON THE PROJ	ECT. NO							
COMPEN	NSATION WILL	BE RECEIVED FOR ANY	Y PART OF							
THESE I	TEMS UNLESS	THEY ARE ACTUALLY	USED ON							
THE JO	B UNDER TH	IE DIRECTION OF TI	HE FIELD							
ENGINE	ER. ANY ADDI	TIONAL ITEMS REQUIF	RED OVER							
AND AB	OVE THOSE LI	STED ABOVE WILL HA	VE TO BE							
SECURE	D ON A CHANG	GE IN CONTRACT AND	ARE NOT							
TO BE U	USED UNTIL S	AME HAS BEEN APPR	OVED BY							
THE CO	UNTY AUDITO	OR. THE AMOUNT BID	ON THE							
ABOVE	LISTED ITEMS	S IS TO BE INCLUDED	D IN THE							
GRAND	TOTAL OF THE									
		Total of Extra V	Vork Items:	\$ 212,150.00		\$ 394,100.00		\$ 683,740.00		\$ 1,018,300.00
Item	Demolition S	Services of Residential	Estimated	TFR Enterprises, Inc.	D & M Exc	avating, LLC	P2N	AG, LLC	Fused In	dustries, LLC
Number	\$	Structures	Annual	Leander, TX	Brownsville, TX		Hou	iston, TX	Hou	iston, TX
		with	Quantity							
				No Bids l	Received					
		G	rand Total:	\$ 349,150.0	0	\$ 947,300.00		\$ 1,751,810.00		\$ 3,078,603.70